m Fact Finding

712 EL]

0|5 Lto] k- 2 2 2
s 32M| El =2 S|AMA g
dsl g 29| of b2t S|AHY A2

[MP=E(T2: )]
=2 MESE ToAIY | Eexs | 3 1t
1 == ZH| 338 = 3,600 354

2 HM2= OF 28 = 5,000 13]

3 Y usH| 208 & 2,000 44

4 7t= o 104 = 1,000 13]

[(B2) S8AH HEE(TS: 2]

7 3 g4 = ke Tt

758 H&0s 800

7543 CMA 242

2 Yol0l3 300

HHY Y714=(=H7I1E) 50 750

HHY Y7145 (832B) 78 775

FAY Che s HE 60 854

FAY 7t2|F HEA 60 474

FAY 7t2|F HEB 40 865

FAY = HE 915

=g SA0IE2Y d=EY 25 655

=g ASAEEY 33 800

=g LA HARLHEEY 1,050

g A 346 8,480

() 27t AE (T 2]

43 7= HYZIF | 23t His MBEY=
SHUEH((H7|=F) 60A Z41/80A 8 5,000
A= (H3Y) 60A| Z41/80A| 7 5,000
SEo|RH 2 (|V|E) 60M| 80M| 3 &0 5H|
2&0|=H| H8(H3Y) 60M| 80M| 2 &0 =H|
g A 20 12,000
() RSt AZE(EHD: 2H)]

7 3 A4 g 2 5 7t R
QU AL A UAH 10,000 20,000
U AL B 2U|AH 5,000 6,750

g A 15,000 26,750

1/2



2t A et &ALt
| FSdAHt 1,042 | | S7|83 0
I ERFAFAH 4,933 | ofojHA ¥ 0
2B RFAE 1,825 | ©7| AE84E 0
ESNEP Y 3,108 |  7|E} T2y 0
Il H2RFAH 2,505 | Il 37|54 16,000
HAHYHZ 1,455 | 37| LgUiE 0
FAYAZ 1,050 | S¥7| €202 0
IV ESARZAL 26,750 | UchESZ 16,000
ZEH/OMIE 26,750 | 7|Et SA7|EA 0
A7tdd O | Il 7|EFS Y 0
E2|/7|E} 0 7ZHoIxZ 0
VI 7|EFRFAH 34,000 | 7|EHEA 0
ANEZ2 34,000 £ 23 A 16,000
7|EfRHAL 0 &AM A 53,230
Z A A 69,230 | Balet &AM BHA| 69,230
[(B13) SIFEEH (TR 2H)]
= ¢ A &
| AlI22AS 792 | | A=3 2t 346
2ol A2AE 400 | RS54 EA 0
HIR2} 224 350 | AMEY E2} 128
AtRIAE 42 | FAY B2} 160
QChAE 0| MY A3 58
| EAAES 0| FAY dz 0
OAAE LR 20
HjZIA S 0| EBxyaeeZ 0
daiss 0| EddEd= 20
Il 7|EIAE 0| =22 Y 7Ig 0
AUA|ZHAAE 0l #H3x& 426
&5 2 SHLS 0| Al=3H| 92
ySES= 0| &Y 104
k2| 20
WEH| 66
SAlH| 13
o7t 2 z[0|2s 46
JIEt BSA|E 85
IV O|opofz| & 0
+ oA 792 A& A 792

2/2



